LEHHUdI LAhILO

‘wokt  €9’919 yogoduiiaddon WoLahA 3 :e1dhA wedogudu ou 0JOLY
C LA AN MULILIBAIL (M AT vex) z9'9r »og0duiaddox WoLshA > :e1ahAk wedogudu ou 0101
5 ol Foo k ‘vex) 98'zI- = 2. v2'1C 191708 WOHTOWOX AdALedasuwal eH exsoduwiaddoy
eLonk osondooudupWyiprraedug i 21 nromasadu YoudaLl
LJLo0adone,, e i / / :Adoso0l oul eLanded ouday
s ~ ewagooldsiE ‘qrensu - i - AUD. eI - W QAN AwWaHU3dd OU WISHHELMKIORd ‘KLRLMIOHOLLIDL WII00
OUD JEL,, 1 Al i I ATHT L LHBHOQE L0) MHIGSHE YogoNLaL fank es WapHoE.LOL98. ‘wex :AWaHITadd 0L BOHHRLMRIIRd “UNIdIHE HoROLLDL 0alDBhMLO)
- » - s L < ] 901K :AwaHirad ou eranded fronday
. = / /\\ ov'8so1 000 | 6v'695T | 00'0 61'sopST [ v0'8TZBE | £1'2208b 00:1Z 1°80°bC .
- VAR TR 000 | o6'serst | 000 | vzessvt | ea'siese | 06'skbiy 0011 b120'52 owon m”_ﬂﬂuwﬁs”%”w_..mnﬁo:
W
h ‘ged | () J8.410MgoDf (EW)pn | (EW)En | (v | (e (L)zW (L)TW swada ‘elelf
L
Lp'6E 00°0 00°0 SE'8E £€9919 000 £9'919 000 000 0€'509 (443 ] 1e09 (444 £6'609 ?{K 0101y
£2'T ¥ = ¥¢'1T = bE'E9 = mmdﬁ = mh\ 61 = = £5'61 00 00t mmdﬂ £0'0 99'61 = 00'bZ 99HTad)
9T ¥'1 000 | vb'b9 - 68'sZ 000 68'sZ 000 000 ob'sz 200 00’y 0s’sz 00'0 05'sz - 00'¥Z +1'80°€C
¥5'1 7s'T 000 | €I'¥9 - 01’42 000 01'bZ 000 000 S9'€Z 200 00t 08°€Z .4 000 08'€Z . 00'¥Z $1'80°CC
6b'T H'T 000 | €5'€9 = S9'€C 000 S9'€Z 000 000 12'€C 200 00t €€'€T 00°0 ££°€7 - 00'vC 180T
LE'T SE'T 00'0 | 65'€9 - 9’12 000 ¥9'12 000 000 $2'12 200 00t 6€'1Z 00°0 6€'1Z . 00'vZ $1'80°0C
+C'T €2'1 00'0 | 6€'€9 = 0461 00'0 0/'61 000 000 £€'61 200 00t Pb'61 00°0 Pb'61 . 00'vZ $1'80°6T
8b'T 9’1 000 | 68'€9 - 62€2 000 67'€T 000 000 §8'22 200 00y 16'2C 00°0 16'22 B 00'vZ $1'80°8T
Hb'T Z'T 000 | €8'€9 = 89'2Z 000 89'22 000 000 92'zZ 200 00y 9£'22 00°0 9e'22 B 00'vZ $1'80°LT
£€°T 1 1€'T 000 | €969 = 00’12 000 00'1Z 000 000 19'02 20°0 00t 64'02 00°0 6£'0Z . 00'vZ $1'80°9T
9€'T SE'T 000 | 66'€9 2 SY'IC 000 S¥'1Z 000 000 S0'1Z 200 00'p €112 00°0 (194 B 00'vZ $1'80°ST
SE'T £€'T 000 | 16'€9 = [44i54 00'0 ' 000 000 28'0Z 200 | oo’y 96'0Z 000 96'02 . 00'¥Z $1°80°bT
SS'T €0'1 00’0 | 88’29 = 5291 000 SL'91 000 000 SH'91 750 00t £b'bT 817 19°91 . 00'vZ P1'80°ET
1t 61T 00°0 LL'€9 = 1061 000 10°61 000 000 S9'81 200 00’y bL'8T $0'0 8L'8T » 00'¥Z +1'80°CT
LT ST'T 000 19°€9 - Sb'8T 000 SH'8T 000 000 11'81 200 00y 9Z'st 000 92’8t » 00'v2 +1'80°TT
8T'T 91't 000 £€°69 i 6981 000 6981 000 000 SE'8T 200 00t 15°8T 000 15'8T . 00'vZ +1°80°0T
80'T 90'1 000 | €8'29 i sZ'L1 00°0 ST'LT- 000 000 $6'91 200 00"y 01’41 000 01’1 N 00'vZ $1°80°60
10’1 66'0 000 | 8£'29 = 11°91 000 11'91 00°0 000 28'st 200 00t 96'ST 000 96'ST . 00'¥2 $1'80'80
't 60'T 000 TE°€9 - 18°L1 00'0 15°LT 000 000 61°LT 200 00’ T€°LT 00°0 1€°L1 . 00'vZ $1°80°£0
T \.—. (49 000 £T'€9 & 1181 000 11'8T 00'0 00'0 8L'L1 200 00y ¥6'LT 000 b6'LT . 00'vZ $1°80°90
It .r 60T 000 | sz'e9 | . - 68'LT 000 65°LT 00'0 000 [X4AS 20'0 00t £5'L1 000 £b'LT . 00'vZ $1'80°S0
(4418 0z't 00°0 1L'€9 & er'st 000 [443¢ 00°0 00’0 L1381 20°0 00y 16'81 00°0 16'8T . 00'¥Z $1°80'H¥0
80" 90'T 000 | $0'€9 - 90°21 000 90°L1 000 000 SL'9T ‘Nod 00t 0691 000 06'91 . 00'vZ +1'80°€0
(4% Ir'r 00°0 12'€9 - 18'L1 00°0 18'LT 00°0 000 6b'LT 00y 09°L1 000 09'LT » 00'¥2 +1'80°20
1w 8T'T 000 | €9'€9 = £6'81 000 L6'81 000 000 29’81 00y 64'81 000 6.'81 . 00'vC $1°80°T0
¥2'T .4. [<4} 00'0 | 29'€9 5 9561 000 95'61 000 000 0Z'61 00’y 9£'61 000 9€'61 B 00'vZ T LO'TE
61 'y 000 | Zv'€9 = 1181 000 £L'81 000 000 £5'81 00t 15'81 000 £5'81 . 00'v2 $1°20°0€
€€ €T 000 1L'€9 - 86'0C 00°0 86'0C 00°0 000 6507 00y €2'0C 00'0 €207 » 00'vC PT°LO'6C
@Z ST 00'0 | 6¥'€9 = £0'02 000 £0°0Z 000 000 99'61 0 00’y 28'61 000 78'61 B 00'vZ +1°L0'8C
141 12’1 00'0 | 22'€9 g 1€'6T 00°0 TE'67 000 000 96'81 200 00’y 01’61 000 01’61 . 00'vC T'L0°LT
62°1 2Z'T 000 | 81'6S = 8812 000 88'1Z 000 000 [4 914 10'0 00t 85'1Z 000 8512 . 00'v2 $1°20°9C
4 €21 000 | 65'29 - 00'0¢ 00’0 00°0Z 000 000 $9'6T 20 00y 64'61 000 6L'61 . 00'v2 $1°L0'ST
0z'1 L 81T 00'0 | 60°€9 = S0'61 000 50°61 000 000 04'8T 200 00t 00's | £9'1y £8'81 000 £8°81 5 00'v2 H1°L0'HC
‘uex ‘e e e B) B) oorn | ohtw | OlW ESED y L L T3] WP | ZWa/ il 5] B) B) L L L Sen
‘mgo 281X01D UEN 081D g ‘Mo daD | ‘bl ‘gL | utoup | oaipp PA A ‘WP b ‘EW 10100 <] d 1p ‘zL T ‘WP W ‘TW OH ny ewely
SioLoIEy DI9HHET JITHIUOALHOY (z-a1) D81 1ank (1LY MASIIIOIO Lo
3moQ $102°80'€7 OU $707°/0$Z 3 YOMdOU UIAHLIhLO UWMATISTRAU BE SUHIUGIC.LOL SONIDHHULY
0=2819 0="10U" X319 0="1H389 T'1€T=109 114A9/1 ‘(*149°dd) 1aroxoed a19HdosoJol]
=d>81D =d>281%eL) :oeh/uey | ‘(9endd) migAd.eH 19HdosololT]
£T01'0=2810 ="10u"XaLD) ="1H38D LEY'0=10D :Bh/urey | ‘wieAdJen a19Hdogosol|
(8XU-7U)ZW+(EXU-TU) TW=0) 10131 (8XU-7U)aS W+(7U-TU)L TW=0) :BWHME WLMdOIUR MISHLORORA
:suHavseY-dgoad| :*dgoaduowda ) =XBWo =uwe :dawoYoxoed ((SALMUTOU dL
:suHaweeldgoady) :*dgoaduowda | =XeWo =uwg :daworroxoed {(pW)Dgalndun-de
:BuHRIARY dgoady Z-51-1Ul :'dgoaduowda) =XBWwo =uwo ZE WEdL :daworoxoed (gw)oay r-di
:suHaVEeRY-dgoady S0-dLUI :‘dgoaduowda ) =Xews =ung Ot T-WEJU :daworoxoed :(ZW) dr-HiedgQ
:BMHavaer-dgoad| SO-d1ULY :‘dgoaduonwda) =XBWO =uwg Ob T-WEdU :daworoxoed :(TW) d1'moieroy
$2'1z =>di ‘exy oY 1aHadagou €] A4 1adogudy) 20 :(ewax3) Wimid 86LbT 6N Ep6-111D :9URLULOURIG
29'4180-()h-86/41-E46111D :xelmed 8 1sauxde "HhOLAD 1 3198008H :19dogndu SISHHAUEOHRLIK
04/0ST nceds KRHOAALXASIT :BMHIROILNITOL BWaXD NMHROLY

ELAA D OHLIDWE0D q1eandIBWIORY
{ELAA o)
8] eldhA USEL

HCLETCTE

90-L4-€T€ (218) HOPRWRL
8z esoHAuRM :dadiy Lmodi)
:dosolofy
107 LAge ee €144 wedogudu ou MMHBLGSALOLOKLAL O 1BhL)

LHONLR WOTT, OVE :8MNeEMHEIO BEMOIESMKALIGO
281+0ND / 82 eaoHAIRM ‘idAgdats-1iHeD 1 Dadiy
JeHoned 0JONIEIH Z-D)HK., OO0 :LHIHOGY




